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Answer Key & Worked Solutions 

Nan Hua Paper 

P6 Mathematics SA1 2018 
Paper 1 

Q1 Q2 Q3 Q4 Q5 Q6 Q7 Q8 Q9 Q10 

3 2 3 3 2 1 4 2 3 2 

Q11 Q12 Q13 Q14 Q15 

1 2 3 3 4 

Q16) 69100 
Q17) 4

1
2

Q18) 16.04 Q19) 50 cm2 Q20) 53 ° 

Q21) 9 Q22) 96 m/min Q23) 

a) 
3
5

b) 15.79

Q24) 
a) 1092
b) 2019

Q25) 
a) 3

b) 
1
8
 kg 

Q26)  
$(80 – 11k) 

Q27) 9 h Q28)  105 Q29) 
a) 36 cm
b) 77 cm2

Q30) 18 cm2 

Paper 2 
Q1. ∠BAE  =  70° 

Q2. 

Q3. 
3
4

 x 6 = 4
1
2
 (remaining lemonade) 

4
1
2

 = 
9
2

9
2

 ÷ 
3
4
 = 6 bottles 

Q4. 52 x 5 = 260 chocolate muffins 

Q5. (
1
2
 x 18 x 18 ) – 54 = 108 cm2
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Worked Solutions 
Show your working clearly in the space provided for each question and write your 
answers in 
the spaces provided. 

6. Additional height = 18 – 11 = 7 cm

Additional volume of water = 20 x 16 x 7 = 2240 cm3

Volume of each bottle = 2240 ÷ 8 = 280 cm3 = 280 mℓ

Ans:  280 mℓ 

7. Total amount saved by 4 of them = 88 x 4 = $352

Amount saved by Cynthia and Devi = 352 – 90 – 75 = $187

Difference between Cynthia and Devi’s savings = 15

Devi’s savings = (187 – 15) ÷ 2 = $86

Cynthia’s savings = 86 + 15 = $101

Ans:  $101 
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8. Number of men visitors 
3
8
 x 

8
9
 = 

3
9

Number of boys and girls 
8
9

 - 
3
9
 = 

5
9

Number of boys  
4
9

Number of girls  
1
9

Difference between boys and girls  
3
9
 660

1
9
 220

9
9
 220 x 9 = 1980 visitors

Ans:  1980 visitors 

9. Perimeter of semi-circle =
1
2
 x 3.14 x 24 = 37.68 cm 

Radius = 12 cm 

EO + EF = 12 + 12 + 20 = 44 cm 

Perimeter of shaded part = 37.68 + 44 + 44 = 125.68 cm 

Ans:  125.68 cm 
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10. Distance from X to Y = 75 x 5 + 30 = 405 km

Time taken by Jake = 5 – 0.5 = 4.5 hr 

Average Jake’s speed = 405 ÷ 4.5 = 90 km/hr 

Ans:  90 km/h 

11. Area of circle =
22
7

 x 7 x 7= 154 cm2 

Area of square = 7 x 7 x 2 = 98 cm2 

Shaded area = 
1
2

 x (154 – 98) = 28 cm2 

Unshaded area = 154 – 28 = 126 cm2 

Ans:  126 cm2 
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12. Let 4u = total number of stamps

At the end,

Number of stamps Kelvin had= 3u

Number of stamps Nelson had = u

At first,

Number of stamps Nelson had = 
5
4
 u 

Number of stamps Kelvin had = 3u - 
1
4

u =
11
4

 u 

Difference = 
11
4

u -
5
4

u = 2u =
6
4

u = 90

u =
4
6
 x 90 = 60 

Total number of stamps = 4u = 4 x 60 = 240 

Ans:  240 

13. Let number of adult’s ticket on Saturday = 10u
Number of children’s ticket on Saturday = 10u + 120

On Sunday, 
Number of adult tickets = 9u 

Number of children tickets = 13 u + 
130
100

 x 120 = 13u + 156 

Total tickets on Sunday = 9u +  13u + 156 = 816 
22u = 816 – 156 = 660 
u = 660 ÷ 22 = 30

Children’s ticket sales on Saturday = (10u + 120) 12 = 420 x 12=$5040 

Adult ticket sales on Saturday = 10u x 25 = 300 x 25 = $7500 

Total sales on Saturday = 5040 + 7500 = $12540 

Ans:   $12540 
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14. a)

If Ted pick 15 red and 15 blue sticks, Total poinst = 15 x (12+ 15) =405

Excess points = 450 – 405 = 45

Extra blue sticks = 45 ÷ 15 = 3

Number of blue sticks Ted picked = 15 + 3 = 18

b)

Umar points = 495 + 6 = 501

If all 39 sticks are red sticks, total points = 39 x 12 = 468

Excess points = 501 – 468 = 33

Difference in points = 15 – 12 = 3

Number of blue sticks = 33 ÷ 3 = 11

Ans:  (a) 18 blue sticks 
(b) 11 blue sticks

15. Perimeter of large semi-circle = 26 x π  = 26π cm

Perimeter of small semi-circle =  13 x π = 13π cm

Perimeter of rectangle = 26 x 5 = 130 cm

Perimeter of figure = 26π + 13π + 130 = 39π + 130 = 252.46 cm 

Ans:  252.46 cm 
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16. a)

∠ x = 360 – 105 = 255°
b)

∠ y = 105 – 75 = 30°

Ans:   (a) 255° 

(b) 30°

17. a)

Area of quadrant = 
1
4
 x 

22
7

 x 14 x 14 = 154 cm2 

Area of semi-circle = 
1
2
 x 

22
7

 x 7 x 7 = 77 cm2 

Area of small square = 14 x 14 = 196 cm2

Area of shaded portion of one small square = 196 – 154 + 77 = 119 cm2 

Total shaded parts = 119 x 4 = 476 cm2  

b) 

Perimeter of quadrant = 
1
4
 x 

22
7

 x 28 = 22 cm 

Perimeter of semi-circle = 
1
2
 x 

22
7

 x 14 = 22 cm 

Straight line = 14 

Perimeter of shaded parts = (22 + 22 + 14) x 4 = 232 cm 

Ans:  (a) 476 cm2 

(b) 232 cm




